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THE OPEN UNIVERSITY OF SRI LANKA

BAHELOR OF MANAGEMENT STUDIES (BMS) DEGREE (LEVEL 4)
FINAL EXAMINATION - 2016 -

MCU2207 - MACRO ECONOMICS

DURATION - 3 HOURS

DATE : 20" February 2016 TIME: 1.30 PM - 4.30 PM

o Answer Part A and any three (03) questions from part B.

e Part A (question No.01) carries 40 marks and all the questions in part B carries
20 marks each.

o Non programmable calculators are allowed.

' Part A
Question No.01
a.  Suppose consumption function is given as;
i. Define the above and explain the same using an illustration.
il. Derive the savings function from the consumption function given above and
explain the same using an illustration. (06 Marks)
b.  “Asthe number of sectors in an economy increases, the size of the expenditure
multiplier too, increases” Do you agree? Explain. (05 Marks)

c.  Which policy, Rs. 1000 billion increase in government expenditure or Rs.1000
billion cut in taxes, is more expansionary? Explain. (05 Marks)
d.  Consider the details given in a three sector economy.
C =88+by,; (Consumption Function)
I =52 (Investments)
G = 68 (Government Expenditure)
Marginal Propensity to Save (MPS) = 0.3

1. Calculate the equilibrium level of National Income. (02 Marks)

ii. If the government introduces an Autonomous tax of Rs.20 billion (7 = 20), find
the equilibrium level of National Income. (03 Marks)

iii. Calculate the Tax and Expenditure multipliers. (02 Marks)

iv. Suppose in addition to autonomous taxes the government introduces an income
tax of 10% and transfer payment of Rs.10,billion (TR = 10). Find the new
equilibrium level of National Income. (03 Marks)

v. Find the new Expenditure, Tax and Transfer Multipliers. (03 Marks)



vi. Suppose the economy becomes open, and following changes take place.
M =48 + 0.2y (Imports)
X = 50 (Exports)

Calculate the ncw cquilibrium level of National income. (04 Marks)
vii. Find the new Expenditure, Tax and Transfer Multipliers. (03 Marks)
viil. Why is that, the imports of a country are expressed as a function and exports as
autonomous? Explain. (04 Marks)
(Total 40 Marks)
PART B
Question No.02

“Time to time, the policy makers of the government alter the economic policies,
depending on the Macro economic goals the country is aiming to achieve. However
policies designed to achieve one Macro goal could have a negative impact in achieving
another goal”. Discuss taking the economy of Sri Lanka as an example.

(20 Marks)
Question No.03
a. 1. Why is the ‘IS” Curve negatively slopped and ‘LM’ curve positively
slopped? Explain.
1. What factors determine the slope of ‘IS’ curve and ‘LM’ curve? Explain.
iii. If the average price level of an economy increases, what will be the impact
of this on the rate of interest and income level? Explain using IS/LM
framework. (08 Marks)
b. Using illustrations, differentiate between “Partial Crowding Out effect” and “Full
Crowding Out effect™. (06 Marks)
c. 1. What is meant by “Liquidity Trap” rate of interest? Explain using
lustrations.
1. What policies are more effective in-the-liquidity-trap range? Explain using
IS/LM framework. ( 06 Marks)
Question No.04 }
a. i. Using illustrations distinguish between “Demand-Pull” and “Cost-Push”
inflation. '
il “In an inflationary process demand pull forces and cost push forces

operate simultaneously and interdependently” Do you agree? Explain
taking Sri Lankan cconomy as an example.

iii. What is the Monetarist view of inflation? Explaiﬁ: “ 2 Marks)
b. What is the impact of high inflation on a country’s economy? Explain with

examples. (08 Marks)

%}



Question No.05

a. “It is possible to achieve zero unemployment rate in a country” Do you agree?
Explain. (05 Marks)
b. i. Differentiate among Frictional, Cyclical and Induced unemployment.
il. What policies are available for the government to reduce the types of
unemployment mentioned in part (1) above. (07 Marks)
c. Explain whether you “agree” or “disagree” with the following.
1. Official unemployment rate always reflects the true level of
unemployment in a country.
il. Structural unemployment is something Macro economic policy makers
should especially be concerned about. (08 Marks)
Question No.06
a. “Commercial Bank contributes to.create money in an economy. However this
money creation has some limitations”.
i What is meant by “money creation”? Explain.
1i. What are the limitations of money creation? Explain. (10 Marks)
b. i. “Classical economists believe that there is a direct relationship between
money supply and prices” Do you agree? Explain using illustrations.
il. Using illustrations compare and contrast the Keynesian and Monetarist
approaches on money supply and price level. (10 Marks)
-Rights Reserved-
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